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) A tank , sdrrounded A; “‘wo Sm'](aces S & Sz, ;S ,'_‘ﬂiﬁa./é_ff//eo(,
wrth water. At the bottom of the tanc , there is & holy of
unit areq -t-;érau;i which the water drains w24 veit
JZ , where 2 s the height of the wodet. Fnd the heipht
07L +the Water h tHe tank a1 a)y time omd -tAe f/he ‘<o
drain the water complerely.

(20%) 3

R
]

b3
St K48z /-8

- 520 X#9< !

. #

X 52

2) gO/Ve ’LLAZ ) orQ/fn‘aréz di#\’/rM;uf %La/ﬁ‘om .
7’—!6’9'4-3; = f16) , t2o
wWith nitial tonditron - H(o)= b,(o):_. 0. A/SO, 7[/6) Js

~d27£;‘neo(. ao
G £ 2} -
/ A '. .
0o 13 ¥ ¢
3) S,a/l/e ~the Par‘Z‘cM o(.";f(@/%;a“,e W&Uc‘/‘o—n/
QU oY
2T = oX*
With éamnd«nr; ton dntionv
X“// U= o
A= 2, U= O
omd It al  onoli-tirorv
£=0, U=/ (20%)

47 Qn /mé/em, ", ﬁno( _ _ :
(@) At umt outward norma/ vector 07‘ 5u)7‘4a S, (S'%,‘

N 2 - Q
(b) A vector olefored ao U = AT+97 —2Fk, where
f\,f 72 are the Un't Vectors jn X, 9 &2 djrections. Linol
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~ha integrak §§ U-RAS , Whore 7 ¢S The undt
S =5752

owtward ngrmad vecter 075 S/.oma( S J)s HAe surfaazs
Of- 9/8‘ 92 . 00%} ' .
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5) ﬁ? the funy{-/‘on/ o(efmea( e tAe oow\,o/w

/
plome 7%) _ /—=8+6%°
(8% £>(z-2)

Nlve 2 is the lomplex variadle.

Frol +hAe /\h‘{‘eg'rw(, fc‘jL(z’:)o(&/ a,eon; the doseod
/Dpu['}(, C 'h e coanter cument Sense, pheve C )'s
e cirdde o7£- vadhius [/ abont “+tAe pPont (0.5,0.8)
h the 607"\75/% ,/P/qne (/00/0)

0 Solve the Conple d 'Ordfnary Asferonitial -eguatims

(%Y - -394+ 200-5) (z2% )
Z‘fé‘; - _z(a—z
Wrth XA=0, ?/‘: /) Fr=2
é %= 0/ dal d?z

=0 ax=°




